Franklin’s Proposal
In my first hole, I am using the Mitochondria, and Chloroplast. The reason why, is because Chloroplast carries out photosynthesis, which then transports sugars to mitochondria. This then uses those sugars to make ATP, which is the energy that our cells need to use in order to make protein. The ball will pass through a series of ridges, for the chloroplast. This is like it is going through photosynthesis. Then, the ball rolls through mitochondria, gathering the energy from photosynthesis. It finally goes into the hole after this.


 And for my second hole, I am using Cytoskeleton and Cell Membrane. Cytoskeleton is what gives the cell structure, and the cell membrane is the outside layer of the cell, that protects it and holds everything together. The golf ball will go through a small hallway of bristles, simulating the cell membrane, and then it can pass through a series of long, hollow tubes, for the Cytoskeleton. Then it exits and goes into the hole.
